CHEMISTRY—SECTION II R \ D;
(Total thme—90 minutes)

Part A
Time—a40 minutes

YOU MAY USE YOUR CALCULATOR FOR PART A.
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0 your advartage to do this, because you may earn partial credic if do and you will receive little or'no credit if

you do not. Atention should be paid to significant figures. Be write all your answers to the questions on the

lined pages following each question in this booklet.

Answer Question 1 below. The Section II score weighting for this quesion is 20 percent. ; |

2HS@) 2 2H,(0)+ 50
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of S,(g) is present at equilibrivm.
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(b) Calclate the equilibrinm concentration, in mol L™, of the following gases in the container # 483 K.
M Balg) '
(i) HyS(g)
" () Calculate the valoe of the equilibrum constant, E., for the decomposition reaction at 483 K.
(d) Calculate the partial pressure of 3;(g) in the container af equilhrium at 483 K

(c) For the reaction. Hy(g) + 1 S3() 2 H,S(g) it 483 K, calculate the value of the equilibricm constant, K, .

ECSYEN ced)
a) Htf%ﬂ‘ -k,:—trﬁf&"“',

GO ON TO THE NEXT PAGE. .



